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Which of the following is false about RMSE?

RMSE is short for root mean squred error. X
RMSE has the same units as the outcome variable. X
RMSE ranges between 0to 1. v

Between two models with the same outcome variable, we prefer the one with lower RMSE. X

Correct!




QUi Yecap - yegyression

The model below predicts the heart weight (in g) of cats from their body weight (in kg). The coefficients are estimated using a dataset of 144
domestic cats.

term estimate std.error statistic p.value

(Intercept) -0.3566624 0.6922770 -0.5152019 6.072131e-01

Bwt 4.0340627 0.2502615 16.1193908 6.969045¢e-34

Which of the following is false?
The correlation coefficient would not change if body weights were measured in pounds. X
The slope estimate would not change if body weights were measured in pounds. ¥
The intercept is meaningless in context of the data and only serves to adjust the height of the regression line. X

The explanatory variable is body weight, and the response variable is heart weight. X

Correct!
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